

η -RICCI SOLITONS ON KENMOTSU MANIFOLDS

SABINA EYASMIN, PARTHA ROY CHOWDHURY, AND KANAK KANTI
BAISHYA*

Abstract. The object of the present paper is to study the Kenmotsu manifolds which metric tensor is η -Ricci soliton. We bring out curvature conditions for which Ricci solitons in Kenmotsu manifolds are sometimes shrinking or expanding and some other times steady.

1. Introduction

Recently Baishya and Roy Chowdhury [1] have introduced and studied *generalized quasi-conformal curvature tensor in the context of $N(k, \mu)$ -manifold*. The *generalized quasi-conformal curvature tensor for $(2n+1)$ -dimensional manifold* (we suppose that $n > 1$) is defined as

$$\begin{aligned} (1.1) \quad & W(X, Y)Z \\ &= \frac{2n-1}{2n+1} [(1+2na-b) - \{1+2n(a+b)\}c] C(X, Y)Z \\ &+ [1-b+2na] E(X, Y)Z + 2n(b-a)P(X, Y)Z \\ &+ \frac{2n-1}{2n+1} (c-1) \{1+2n(a+b)\} \hat{C}(X, Y)Z \end{aligned}$$

for all $X, Y, Z \in \chi(M)$, the set of all smooth vector fields of the manifold M , where a, b, c are real constants. The beauty of *generalized quasi-conformal curvature tensor* lies in the fact that it has the flavour of Riemann curvature tensor R for $a = b = c = 0$; conformal curvature tensor C [18] for $a = b = -\frac{1}{2n-1}$, $c = 1$; conharmonic curvature tensor \hat{C} [21] for $a = b = -\frac{1}{2n-1}$, $c = 0$; concircular curvature tensor E for $a = b = 0$, $c = 1$; projective curvature tensor P for $a = -\frac{1}{2n}$, $b = 0$,

Received February 23, 2018. Revised April 13, 2018. Accepted April 25, 2018.

2010 Mathematics Subject Classification. 53C15, 53C25.

Key words and phrases. Kenmotsu manifold; generalized quasi-conformal curvature tensor; Ricci solitons; η -Ricci solitons.

*Corresponding Author

$c = 0$ and m -projective curvature tensor H [27], for $a = b = -\frac{1}{4n}$, $c = 0$ see also[3]. The equation (1.1) can be also written as

$$\begin{aligned}
 (1.2) \quad W(X, Y)Z = & R(X, Y)Z + a[S(Y, Z)X - S(X, Z)Y] \\
 & + b[g(Y, Z)QX - g(X, Z)QY] \\
 & - \frac{cr}{2n+1} \left(\frac{1}{2n} + a + b \right) [g(Y, Z)X - g(X, Z)Y].
 \end{aligned}$$

The study of the Ricci solitons in contact geometry has begun with the work of Sharma [31]. During the last two decades, the geometry of Ricci solitons has been the focus of attention of many mathematicians, see [6], [13], [19], [33], [35], [15], [17] and also references cited therein. Ricci solitons are introduced as triples (M, g, V) , where (M, g) is a Riemannian manifold and V is a vector field so that the following equation is satisfied:

$$(1.3) \quad \frac{1}{2} \mathcal{L}_V g + S + \lambda g = 0$$

where \mathcal{L} denotes the Lie derivative, S is the Ricci tensor and $\lambda \in \mathbb{R}$. A Ricci soliton is said to be shrinking, steady or expanding according as λ negative, zero and positive respectively.

In [17] Cho and Kimura studied the Ricci solitons of real hypersurfaces in a non-flat complex space form and they defined η -Ricci soliton, which satisfies the equation

$$(1.4) \quad \mathcal{L}_\xi g + 2S + 2\lambda g + 2\mu\eta \otimes \eta = 0.$$

where \mathcal{L}_ξ is the Lie derivative operator along the vector field ξ , S is the Ricci curvature tensor field of the metric g , λ and μ are real constants. Thereafter η -Ricci soliton have been studied in ([7], [8], [9], [10], [11], [12], [20], [2]).

Our work is structured as follows. Section 2 is a very brief review of Kenmotsu manifolds and η -Ricci solitons. In section 3, we investigate η -Ricci solitons in a Kenmotsu manifold admitting $\omega(\xi, X) \cdot W = 0$ where ω and W both stand for *generalized quasi-conformal curvature tensor* with the associated scalar triples $(\bar{a}, \bar{b}, \bar{c})$ and (a, b, c) respectively (two distinct notions have been used in order to study the nature of different semi-symmetric type curvature condition as shown in the table by taking the permutation and combination of the scalar triples into account), the dot means that $\omega(X, Y)$ acts as a derivation on W . It is observed that η -Ricci soliton (g, ξ, λ, μ) in a Kenmotsu manifold $M^{2n+1}(\phi, \xi, \eta, g)$ satisfying each of $R(\xi, X) \cdot W = 0$, $E(\xi, X) \cdot W = 0$ and $H(\xi, X) \cdot W = 0$ is always expanding provided $2n > \mu$. Further, we pointed out that η -Ricci soliton (g, ξ, λ, μ) in a Kenmotsu manifold $M^{2n+1}(\phi, \xi, \eta, g)$ satisfying

each of $C(\xi, X) \cdot W = 0$ and $\hat{C}(\xi, X) \cdot W = 0$ is sometime expanding and some other time remains shrinking. In section 4, we study η -Ricci solitons in Kenmotsu manifold satisfying $W(\xi, X) \cdot S = 0$ and determine that Ricci solitons in Kenmotsu manifold satisfying $W(\xi, X) \cdot S = 0$ is either steady or expanding.

2. Preliminaries

Let M be a $(2n + 1)$ -dimensional connected differentiable manifold of class C^∞ -covered by a system of coordinate neighborhoods (U, x) in which there are given a tensor field ϕ of type $(1, 1)$, a contravariant vector field ξ and a 1-form η such that

$$(2.1) \quad \phi^2 X = -X + \eta(X)\xi,$$

$$(2.2) \quad \eta(\xi) = 1, \quad \phi \cdot \xi = 0, \quad \eta(\phi X) = 0,$$

for any vector field X on M . Then the structure (ϕ, ξ, η) is called contact structure and the manifold M^{2n+1} equipped with such structure is said to be an almost contact manifold. If there is given a Riemannian compatible metric g such that

$$(2.3) \quad g(\phi X, Y) = -g(X, \phi Y), \quad g(X, \xi) = \eta(X),$$

$$(2.4) \quad g(\phi X, \phi Y) = g(X, Y) - \eta(X)\eta(Y),$$

for all vector fields X and Y , then we say M is an almost contact metric manifold. An almost contact metric manifold M is called a *Kenmotsu manifold* if it satisfies [25],

$$(2.5) \quad (\nabla_X \phi)Y = -g(X, \phi Y)\xi - \eta(Y)\phi(X),$$

for all vector fields X and Y , where ∇ is the Levi-Civita connection of the Riemannian metric. From the above, it follows that

$$(2.6) \quad \nabla_X \xi = X - \eta(X)\xi,$$

$$(2.7) \quad (\nabla_X \eta)Y = g(X, Y) - \eta(X)\eta(Y),$$

In the Kenmotsu manifold the following relations hold ([23], [24], [26], [32], [29], [30]):

$$(2.8) \quad R(X, Y)\xi = \eta(X) Y - \eta(Y)X,$$

$$(2.9) \quad \eta(R(X, Y)Z) = \eta(Y)g(X, Z) - \eta(X) g(Y, Z).$$

Let (M, ϕ, ξ, η, g) be a Kenmotsu manifold satisfying (1.4). Writing $\mathcal{L}_\xi g$ in terms of the Levi-Civita connection ∇ , we obtain from (1.4) that

$$(2.10) \quad 2S(X, Y) = -g(\nabla_X \xi, Y) - g(X, \nabla_Y \xi) - 2\lambda g(X, Y) - 2\mu\eta(X)\eta(Y),$$

for any $X, Y \in \chi(M)$. In consequence of (2.6), one can easily bring out the followings:

$$(2.11) \quad S(X, Y) = -(\lambda + 1)g(X, Y) + (1 - \mu)\eta(X)\eta(Y),$$

$$(2.12) \quad QX = (1 - \mu)\eta(X)\xi - (\lambda + 1)X,$$

$$(2.13) \quad r = -(2n + 1)(\lambda + 1) + (1 - \mu),$$

$$(2.14) \quad \begin{aligned} W(X, Y, Z, U) = & R(X, Y, Z, U) + a(1 - \mu)\eta(Z)[\eta(Y)g(X, U) \\ & - \eta(X)g(Y, U)] + b(1 - \mu)[g(Y, Z)\eta(X) \\ & - g(X, Z)\eta(Y)]\eta(U) - [(\lambda + 1)(a + b) \\ & + \frac{cr}{2n + 1}(\frac{1}{2n} + a + b)][g(Y, Z)g(X, U) - g(X, Z)g(Y, U)]. \end{aligned}$$

3. η -Ricci Soliton in Kenmotsu manifolds satisfying $\omega(\xi, X) \cdot W = 0$

Let us now consider a $(2n + 1)$ -dimensional Kenmotsu manifold M satisfying the condition

$$(3.1) \quad \omega(\xi, X) \cdot W(Y, Z)U = 0$$

where ω and W stands for *generalized quasi-conformal curvature tensor* with the associated scalar triples $(\bar{a}, \bar{b}, \bar{c})$ and (a, b, c) respectively, the dot means that $\omega(X, Y)$ acts as a derivation on W . The foregoing equation is equivalent to

$$(3.2) \quad \begin{aligned} & g(\omega(\xi, X)W(Y, Z)U, \xi) - g(W(\omega(\xi, X)Y, Z)U, \xi) \\ & - g(W(Y, \omega(\xi, X)Z)U, \xi) - g(W(Y, Z)\omega(\xi, X)U, \xi) = 0. \end{aligned}$$

In view of (2.9), (2.11) and (1.1), we have

$$\begin{aligned}
 & W(\xi, X)Y \\
 &= \left[1 - \bar{a}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} \right. \right. \\
 (3.3) \quad & \left. \left. + \bar{b} \right) \right] \eta(Y)X - \left[1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) \right. \\
 & \left. + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] g(X, Y)\xi + (\bar{a} - \bar{b})\eta(X)\eta(Y)\xi,
 \end{aligned}$$

$$\begin{aligned}
 & \eta(W(X, Y)Z) \\
 (3.4) \quad &= \left[1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \times \\
 & \left[g(X, Z)\eta(Y) - g(Y, Z)\eta(X) \right],
 \end{aligned}$$

$$\begin{aligned}
 & \sum_{i=1}^{2n+1} W(e_i, Z, U, e_i) \\
 (3.5) \quad &= (1 - \bar{b} + 2n\bar{a})(1 - \mu)\eta(U)\eta(Z) \\
 & + \left[\bar{b}(1 - \mu) - 2n \left(1 + \lambda + \frac{\bar{c}r}{2n + 1} \right) \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] g(Z, U),
 \end{aligned}$$

$$\begin{aligned}
 & \sum_{i=1}^{2n+1} \eta(W(e_i, Z)e_i) \\
 (3.6) \quad &= 2n \left[1 - \bar{b}(1 - \mu) + (1 + \lambda)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \eta(Z).
 \end{aligned}$$

In view of (3.3) and (3.4), we obtain from (3.2)

$$\begin{aligned}
 & \left[1 - \bar{a}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) \right. \\
 & \left. \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \times \left[1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) \right. \\
 & \left. + \frac{cr}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \times \left[g(X, Z)\eta(U)\eta(Y) - g(X, Y)\eta(U)\eta(Z) \right] \\
 (3.7) \quad & - \left[1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] W(X, Y, Z, U) \\
 & + \left[1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \times \left[1 - \bar{b}(1 - \mu) \right. \\
 & \left. + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{cr}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \times \left[g(X, Y)\eta(U)\eta(Z) \right. \\
 & \left. - g(X, Y)g(Z, U) + g(X, Z)g(Y, U) - g(X, Z)\eta(U)\eta(Y) \right] = 0.
 \end{aligned}$$

Contracting (3.7) over X and Y and then using (3.5) and (3.6), we get

$$\begin{aligned}
 & -2n \left[1 - \bar{a}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \times \\
 & \left[1 - b(1 - \mu) + (\lambda + 1)(a + b) + \frac{cr}{2n + 1} \left(\frac{1}{2n} + a + b \right) \right] \eta(U)\eta(Z) \\
 & - \left[1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \times \\
 (3.8) \quad & \left[(1 - b + 2na)(1 - \mu)\eta(U)\eta(Z) + \left\{ b(1 - \mu) - 2n \left(1 + \lambda + \frac{cr}{2n + 1} \right) \times \right. \right. \\
 & \left. \left. \left(\frac{1}{2n} + a + b \right) \right\} g(Z, U) \right] + \left[1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) \right. \\
 & \left. + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \times \left[1 - b(1 - \mu) + (\lambda + 1)(a + b) \right. \\
 & \left. + \frac{cr}{2n + 1} \left(\frac{1}{2n} + a + b \right) \right] \times [2n\eta(U)\eta(Z) - 2ng(Z, U)] = 0.
 \end{aligned}$$

Again putting $Z = U = \xi$ in (3.8) and taking the summation over i , $1 \leq i \leq 2n + 1$, we get

$$\begin{aligned}
 & -2n \left[1 - \bar{a}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \times \\
 (3.9) \quad & \left[1 - b(1 - \mu) + (\lambda + 1)(a + b) + \frac{cr}{2n + 1} \left(\frac{1}{2n} + a + b \right) \right] \\
 & - \left[1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \times \\
 & \left[(1 + 2na)(1 - \mu) - 2n \left(1 + \lambda + \frac{cr}{2n + 1} \right) \left(\frac{1}{2n} + a + b \right) \right] = 0.
 \end{aligned}$$

Based on (3.9), we can state the following:

Theorem 3.1. *In a Kenmotsu manifold $M^{2n+1}(\phi, \xi, \eta, g)$ which metric tensor is η -Ricci soliton (g, ξ, λ, μ) satisfies the curvature condition in the following table:*

Curvature condition	Value of λ
$R(\xi, X) \cdot W = 0$ (Obtain by $\bar{a} = \bar{b} = \bar{c} = 0$)	$\lambda = 2n - 1 + (1 - \mu)[1 + 2n(a - b)]$
$E(\xi, X) \cdot W = 0$ (Obtain by $\bar{a} = \bar{b} = 0, \bar{c} = 1$)	$\lambda = (2n + \frac{r}{2n+1}) \{ (1 - \frac{\mu}{2n}) + (1 - \mu)(a - b) \}$
$C(\xi, X) \cdot W = 0$ (Obtain by $\bar{a} = \bar{b} = -\frac{1}{2n-1}, \bar{c} = 1$)	$\lambda = n - 1 - \frac{\mu}{2} - \frac{r}{4n}$ or $\lambda = (2n + \frac{r}{2n+1}) \{ (1 - \frac{\mu}{2n}) + (1 - \mu)(a - b) \}$
$\hat{C}(\xi, X) \cdot W = 0$ (Obtain by $\bar{a} = \bar{b} = -\frac{1}{2n-1}, \bar{c} = 0$)	$\lambda = n - 1 - \frac{\mu}{2}$ or $\lambda = (2n + \frac{r}{2n+1}) \{ (1 - \frac{\mu}{2n}) + (1 - \mu)(a - b) \}$
$P(\xi, X) \cdot W = 0$ (Obtain by $\bar{a} = -\frac{1}{2n}, \bar{b} = \bar{c} = 0$)	$\lambda = 2n - 1$ for $\mu = 1$
$H(\xi, X) \cdot W = 0$ (Obtain by $\bar{a} = \bar{b} = -\frac{1}{4n}, \bar{c} = 0$)	$\lambda = 2n - \frac{1}{2} - \frac{\mu}{2}$ or $\lambda = (2n + \frac{r}{2n+1}) \{ (1 - \frac{\mu}{2n}) + (1 - \mu)(a - b) \}$.

Theorem 3.2. *The η -Ricci soliton (g, ξ, λ, μ) in a Kenmotsu manifold $M^{2n+1}(\phi, \xi, \eta, g)$ satisfying each of $R(\xi, X) \cdot W = 0, E(\xi, X) \cdot W = 0$ and $H(\xi, X) \cdot W = 0$ is always expanding provided $2n > \mu$.*

Theorem 3.3. *The η -Ricci soliton (g, ξ, λ, μ) in a Kenmotsu manifold $M^{2n+1}(\phi, \xi, \eta, g)$ satisfying each of $C(\xi, X) \cdot W = 0$ and $\hat{C}(\xi, X) \cdot W = 0$ is sometime expanding and some other time remains shrinking.*

4. η -Ricci soliton in a Kenmotsu manifold with $W \cdot S = 0$

Let $M^{2n+1}(\phi, \xi, \eta, g)$ be a Kenmotsu manifold, satisfying the condition

$$(4.1) \quad W \cdot S = 0,$$

i.e.,

$$W(\xi, X)S(Y, Z) - S(W(\xi, X)Y, Z) - S(Y, W(\xi, X)Z) = 0,$$

i.e.,

$$(4.2) \quad S(W(\xi, X)Y, Z) + S(Y, W(\xi, X)Z) = 0.$$

In view of (2.9) and (1.1), we have

$$(4.3) \quad \begin{aligned} &\eta(W(\xi, X)Y) \\ &= \left[\frac{\bar{c}r}{2n+1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + 1 \right] g(X, Y) \\ &\quad + \left[1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n+1} \left(\frac{1}{2n} + \bar{a} + \bar{b} \right) \right] \eta(X)\eta(Y). \end{aligned}$$

Using (4.3) in (4.2), we have

$$\begin{aligned}
 & 2\left[\left\{1 - \bar{a}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1}\left(\frac{1}{2n} + \bar{a} + \bar{b}\right)\right\}\right. \\
 & \quad \left. - \lambda(\bar{a} - \bar{b})\right]\eta(X)\eta(Y)\eta(Z) + \lambda\left\{1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b})\right. \\
 (4.4) \quad & \left. + \frac{\bar{c}r}{2n + 1}\left(\frac{1}{2n} + \bar{a} + \bar{b}\right)\right\}[g(X, Y)\eta(Z) + g(X, Z)\eta(Y)] \\
 & \quad - (\lambda + 1)\left\{1 - \bar{a}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b}) + \frac{\bar{c}r}{2n + 1}\left(\frac{1}{2n} + \bar{a} + \bar{b}\right)\right\} \\
 & \quad [g(X, Y)\eta(Z) + g(X, Z)\eta(Y)] = 0.
 \end{aligned}$$

Putting $Z = \xi$ and $X = Y = e_i$ in (4.4), where $\{e_1, e_2, e_3, \dots, e_{2n}, e_{2n+1} = \xi\}$ is an orthonormal basis of the tangent space at each point of the manifold M , and taking the summation over $i, 1 \leq i \leq 2n + 1$, we get

$$\begin{aligned}
 & \lambda\left[1 - \bar{b}(1 - \mu) + (\lambda + 1)(\bar{a} + \bar{b})\right. \\
 & \quad \left.\bar{c}\left(\frac{\mu + \lambda(2n + 1) + 2n}{2n + 1}\right)\left(\frac{1}{2n} + \bar{a} + \bar{b}\right)\right] = 0.
 \end{aligned}$$

From the foregoing equation, one can easily bring out the following:

Theorem 4.1. Any Kenmotsu manifold $M^{2n+1}(\phi, \xi, \eta, g)$ whose metric tensor is η -Ricci soliton (g, ξ, λ, μ) satisfies the curvature condition in the following table:

Curvature condition	Value of λ
$R(\xi, X) \cdot S = 0$ (Obtain by $\bar{a} = \bar{b} = \bar{c} = 0$)	$\lambda = 0$
$E(\xi, X) \cdot S = 0$ (Obtain by $\bar{a} = \bar{b} = 0, \bar{c} = 1$)	$\lambda = 0, \frac{1-\mu}{2n+1}$
$C(\xi, X) \cdot S = 0$ (Obtain by $\bar{a} = \bar{b} = -\frac{1}{2n-1}, \bar{c} = 1$)	$\lambda = 0, 2n - \mu$
$\hat{C}(\xi, X) \cdot S = 0$ (Obtain by $\bar{a} = \bar{b} = -\frac{1}{2n-1}, \bar{c} = 0$)	$\lambda = 0, n - 1 - \frac{\mu}{2}$
$P(\xi, X) \cdot S = 0$ (Obtain by $\bar{a} = -\frac{1}{2n}, \bar{b} = \bar{c} = 0$)	$\lambda = 0, 2n - 1$
$H(\xi, X) \cdot S = 0$ (Obtain by $\bar{a} = \bar{b} = -\frac{1}{4n}, \bar{c} = 0$)	$\lambda = 0, \frac{4n-1-\mu}{2}$

From the above table, we can state the following

Theorem 4.2. η -Ricci soliton (g, ξ, λ, μ) in the Kenmotsu manifold admitting $W \cdot S = 0$ is sometime expanding and some other time remains steady provided $\mu < 1$.

References

[1] K. K. Baishya and P. R. Chowdhury, *On generalized quasi-conformal $N(k, \mu)$ -manifolds*, Commun. Korean Math. Soc., **31(1)** (2016), 163-176.

- [2] K. K. Baishya and P. R. Chowdhury, η -Ricci solitons in $(LCS)_n$ -manifolds, Bull. Transilv. Univ. Brasov, **9(58)**(2) (2016), 1-12.
- [3] K. K. Baishya and P. Peška, *On the example of almost pseudo-Z-symmetric manifolds*, Acta Univ. Palacki. Olomuc., Fac. Rerum Nat., Math. **55(1)** (2016), 5-10.
- [4] K. K. Baishya, *More on η -Ricci solitons in $(LCS)_n$ -manifolds*, to appear in Bulletin of the Transilvania University of Brasov, Series III, Maths, Informatics, Physics.
- [5] K. K. Baishya, *Ricci Solitons in Sasakian manifold*, Afr. Mat. **28** (2017), 1061-1066, DOI: 10.1007/s13370-017-0502-z.
- [6] C. L. Bejan and M. Crasmareanu, *Ricci solitons in manifolds with quasi-constant curvature*, Publ. Math. Debrecen, **78(1)** (2011), 235-243.
- [7] A. M. Blaga, *η -Ricci solitons on Lorentzian para-Sasakian manifolds*, Filomat, **30(2)** (2016), 489-496.
- [8] A. M. Blaga, *η -Ricci solitons on para-Kenmotsu manifolds*, Balkan J. Geom. Appl., **20(1)** (2015), 1-13.
- [9] A. M. Blaga and M. C. Crasmareanu, *Torse-forming η -Ricci solitons in almost paracontact η -Einstein geometry*, Filomat, **31(2)** (2017), 499-504.
- [10] A. M. Blaga, *On warped product gradient η -Ricci solitons*, (2017), arXiv:1705.04092[math.DG].
- [11] A. M. Blaga, *On gradient η -Einstein soliton*, Krag. J. Math., **42(2)** (2018), 229-237.
- [12] A. M. Blaga, S. Y. Perkaş, B. E. Acet and F. E. Erdoğan, *η -Ricci solitons in (ε) -almost paracontact metric manifolds*, (2017), arXiv:1707.07528v2[math.DG].
- [13] G. Calvaruso and A. Zaeim, *A complete classification of Ricci and Yamabe solitons of non-reductive homogeneous 4-spaces*, J. Geom. Phys., **80** (2014), 15-25.
- [14] G. Calvaruso and A. Perrone, *Ricci solitons in three-dimensional paracontact geometry* (2014) arXiv: 1407.3458v1[math.DG].
- [15] H. D. Cao, *Geometry of Ricci solitons*, Chinese Ann. Math. Ser. B., **27** (2006), 121-142.
- [16] S. Chandra, S. K. Hui and A. A. Shaikh, *Second order parallel tensor and Ricci solitons on $(LCS)_n$ -manifolds*, Commun. Korean Math. Soc., **30** (2015), 123-130.
- [17] J. T. Cho and M. Kimura, *Ricci solitons and real hypersurfaces in a complex space form*, Tohoku Math. J., **61** (2009), 205-212.
- [18] L. P. Eisenhart, *Riemannian Geometry*, Princeton University Press, 1949.
- [19] I. Hinterleitner and V. A. Kiosak, *ϕ Ric-vector fields in Riemannian spaces*, Arch. Math. (Brno) **44(5)** (2008), 385-390.
- [20] S. K. Hui and D. Chakraborty, *η -Ricci solitons on η -Einstein $(LCS)_n$ -manifolds*, Acta Univ. Palac. Olom. Fac. Res. Nat. Math., **55(2)** (2016), 101-109.
- [21] Y. Ishii, *On conharmonic transformations*, Tensor(N.S.), **7** (1957), 73-80.
- [22] D. Janssens and L. Vanhecke, *Almost contact structures and curvature tensors*, Kodai Math. J., **4** (1981), 1-27.
- [23] J. B. June, U. C. De and G. Pathak, *On Kenmotsu manifolds*, J. Korean Math. Soc., **42(3)** (2005), 435-44.
- [24] V. F. Kirichenko, *On the geometry of Kenmotsu manifolds*, Dokl. Akad. Nauk., **380(5)** (2001), 585-587.

- [25] K. Kenmotsu, *A class of almost contact Riemannian manifolds*, Tohoku Math. J., **24(1)** (1972), 93-103.
- [26] G. Pitiş, *Geometry of Kenmotsu manifolds*, Transilvania University Press, Braşov, (2007).
- [27] G. P. Pokhariyal and R. S. Mishra, *Curvatur tensors and their relativistics significance I*, Yokohama Math. J., **18** (1970), 105-108.
- [28] S. Sasaki, *Almost contact manifolds part I*, lecture notes, Mathematical Institute, Tohoku University, (1965).
- [29] A. A. Shaikh, F. R. Al-Solamy and H. Ahmad, *Some transformations on Kenmotsu manifolds*, SUT. J. Math., **49(2)** (2013), 109-119.
- [30] A. A. Shaikh and A. Ali, *On locally ϕ -semisymmetric Kenmotsu manifolds*, Palestine J. Math., **7(1)** (2018), 100-106.
- [31] R. Sharma, *Certain results on K -contact and (k, μ) -contact manifolds*, J. Geom., **89** (2008), 138-147.
- [32] B. B. Sinha and A. K. Srivastava, *Curvatures on Kenmotsu manifold*, Indian J. Pure Appl. Math., **22(1)** (1991), 23-28.
- [33] S. E. Stepanov, I. I. Tsyganok and J. Mikeš, *From infinitesimal harmonic transformations to Ricci solitons*, Math. Bohem. **138(1)** (2013), 25-36.
- [34] S. Tanno, *The automorphism groups of almost contact Riemannian manifolds*, Tohoku Math. J., **21** (1969).
- [35] M. M. Tripathi, *Ricci solitons in contact metric manifolds*, arXiv:0801.4222[math.DG].
- [36] K. Yano and S. Bochner, *Curvature and Betti numbers*, Annals of Math. Studies 32, Princeton University Press, (1953).
- [37] K. Yano and S. Sawaki, *Riemannian manifolds admitting a conformal transformation group*, J. Diff. Geom., **2** (1968), 161-184.

Sabina Eyasmin
 Sahajadpur Sarbagan High School,
 Berhampore, Sahajadpur-742187, Murshidabad, West Bengal, India.
 E-mail: sabinaeyasmin2010@gmail.com

Partha Roy Chowdhury
 Shaktigarh Bidyapith High School,
 Darjeeling-734005, West Bengal, India.
 E-mail: partha.raychowdhury81@gmail.com

Kanak Kanti Baishya
 Department of Mathematics, Kurseong College,
 Darjeeling-734203, West Bengal, India.
 E-mail: kanakkanti.kc@gmail.com